LHRAERBFERS (DTYLOH) RFES
#18:20228H278 (1)
B HLNITUT T —F T
14EUT BFIVTILR

Fi#EA/N—F /M EH I8 TKRR B [ [[[=tiva
A (AT EIE) 3—0 3-0 3—0 6 1
FH () 0—3 - -1 4 3
IE(FED2=T) 0—3 3—2 3—0 5 2
TARR (BiEe) 0—-3 1-3 0—-3 3 4
F5EB/—h i £# iz 42| INE Ba = JIE sz
Fih (FFTTC) 3—0 3—0 3—-0 6 1
E# (B ) 0—3 0—3 3—0 4 3
gE (IR RG) 0—3 3—0 3—1 5 2
INE (BRI o) 0—3 0—3 1-3 3 4
F5EC/—k 3= ETH XIE il Ba = JIEfiz
EZH(TTCER) 3—0 3-0 3-0 6 1
ETH (F0A S8R RRD) 0—3 — 3—0 5 2
AIEFLES) 0—3 0— 3—2 4 3
#IL(EZ£JSC) 0—3 — 2—3 3 4
F&D/S—k S]] M LR ] m| /e [ E (=t
E /A (80 357) 3—1 3—-0 3—-0 6 1
INI(2£JSC) 1-3 3—0 3—-0 5 2
LR (B S) 0—3 0—-3 3—1 4 3
O (FES2=T) 0—3 0—3 1—-3 3 4
FiEE/N—F Bye R Frx B R 5 iva
Bye
iR (Rl o) 3—1 2 1
T (RSB RRLD) 1—3 1 2
FiEF/N—F 5% RE )il Ba Rz JIE 32
SE (BsH) 3—1 3—1 4 1
REMFREDS2=T) 1-3 3—0 3 2
B IR R) 1-3 0—-3 2 3
URUT BFIVTILR RB—FAVE
B (T 558 .
FiR (B ) 0 5 .
B (B#557) °
Bl (Tt EE)
ZH(TTCER) 5
&2 (s ch) 2 9 0

Fih (FETTC)




LAXERBFHEREHTYMOH) RFRE

#18:2022568H278 (1)

RIGHLNIDUTT)—FIRT

1BZLUTF BFL2TILR

FBA/IN—F KE Fith A < B/a [ B JIE L
X% (ABBEY) 3-0 3—0 3—0 6 1
Fih (FFTTC) 0—-3 0—3 3—-0 4 3/3 3
B (GF) GREEkCL.) 0—3 — 2—-3 4 5/3 2
= (H=EEkCL.) 0—3 - 3—2 4 3/5 4
F#EB/—k ZH 1Ty X&E #/a = [[:3iva
##HE Gh=EBRCL) 3—-0 3—0 4 1
IIT (#) CREBETTC) - 2—3 2 3
K& (B£EJSC) -3 3—2 3 2
FEC/I—k EE BiE pNE] TE B = -4
fEE(RETTC) 3—1 -0 3-0 6 1
=8 (%) GhsBkeL.) - - 0—3 4 3
XE(EYLEH—) - 1-3 0—3 3 4
FE (L) - 3—0 3—0 5 2
FED/S—F % S=E S 1T Ba = JIE 42
% (F=ERCL) 3-0 - 4 1
ABK(EZEJSC) - — 3 2
IWT (&) RETTC) - 0—-3 2 3
FBE/N—F B BiE ReE Ba = JIE 42
EE(REBETTC) 1-3 — 3 2
B8 (X) Gh=EBkCL.) 3—1 — 4 1
Rk (BRtho>D) 2—3 0—3 2 3
FBF/A—F BAR i) s Ba g JIE 42
B%& (3OrSsc) 3—1 3—0 4 1
FaEEETTC) 1-3 — 3 2
B (K) (FREBkCL.) 0—3 0—3 2 3
1BMUT BFIUTILR REb—F AV
K% (ABBEY)
FE(hidlre)
=18 (K) Gh=EBkCL.)
H(GREBkCL.)
KE (ABBEY)
fEE(KEBETTC)
B%A(3ArSC)
A (GF) (s BkCL.)

HEH (FEBRCL)




LAFERBTFERE (DTVMOH) RFES

#AH 2022488278 (1)
S HLINITUT T —F T
14T BFIVT LR

FEA/S—F BIx ] =& TR [ ES g5z
BEMBILEERTHTI) 3-0 3-0 4 1
MNHE(FES1Z7) 0—3 3-0 3 2
=R (2%&JSC) 0—3 0—3 2 3
FEB/A—F H5 B AR BR = NE s
P8 (RITHIE) 3—1 3-0 4 1
BEZE(E2£JS0) 1-8 3-0 3 2
AR (TSC-WADA) 0—3 0—3 2 3
FEC/N—H AT X ¥H hoia TR = JE sz
KI(E%JSC) W—L 3—1 2 1
K (T RIE) L—w L—W
AR (FREDLZT) 1-3 wW—L 1 2
RE)—5 RIF h 5 PN B B NE s
BREMILEERTHTI) 0—3 3-0 3 2
h S (MTEE) 3-0 3-0 4 1
AI(E&JISC) 0—3 0—3 2 3




2AFXRERBFERE DTVNOH) RFER

1BBUTFT BFIVTILR

#1H 2022488278 (1)

RI5:HLNIDUTT)—FIRT

FiEA/IS—F HE i) =] VN M B f [[:3iv2
HE @ HTTCERS) 3—-0 3—2 3—0 6 1
FBHE (LBTTC) 0—3 1—3 3-0 4 3
EXR(SPIN WORKS) 2—-3 3—1 3—2 5 2
IMIN(EZEJISC) 0—3 0—3 2—-3 3 4
FEB/A—h PN 5 BEE /R B IE L
BEARHKEED21=7) 3-0 2-3 3 5/3 1
FEGETTC) 0— 3—2 3 3/5 3
BERE (T EE) 3— 2-3 3 5/5 2
FEC/A—F Fith T ETH B s IE L
FH(REBTTC) 3—1 - 4 1
F(EREEBKELS—) 1-3 — 3 2
BTE (B sxzK—vbEE)| 0—3 0—3 2 3
FED/—F fEE P35 N B i IE L
BEGCEETTC) 3—0 -0 4 1
KB (SPIN WORKS) - - 3 2
W (BRSE3ktE5—) - 0—3 2 3
FEE/NA—F = AEA A KiE B e IE L
BE(E£JS0) w—L 3—0 2 1
FEEA (R) (F£FTTC) - L—W
KiFE(HKEED2ZT) - W—L 1 2
FBF/A—F PE EEA AR Ba e IIE L
h B (RITEE) W—L -0 2 1
FEEA () GEETTC) — -
AR (SPIN WORKS) — W-—L 1 2
1BR/UT KFIUITILR R —F AL

HEERTTCERS)
Ba(E£JSC)
BEGEETTC)
FH(LETTC)

P B GRTHIE)

BARMHKEEDL1ZT)

HE (HWTTCERE)




N

=
Fith (BR)

TKRIR
INGE

fTH
it

5%
HiR

1T €9
TFih (1%)

18
O

IR
HE

FEE AR (R)
AEE A (B%)

Rk
AR

T
BT E

mE
SFith

LEFEREFEAEATYLOH) RPER

(TTCES)
(ZFBTTC)

(R )

(BE£JSC) ——

(FR=ERCL.)

(FNEB ERRARD)

(B R)

(FFTTC)

(BEZ2ZT)

(FR=ERCL.)

(MILESKTHTIO)
(BHTTCERS)

(ZBTTC)

(T EE)

(2%JSC)

(SPIN WORKS)

(FNESFRRARLD)

(#ZEFTTC)

BFFTILR
3
3 0
0
1 3
0
0 3
3
ZXFET LR
w
1 0
L
1 3
1
3 3
3

=]
HRE

=i (52)

B (F)

L&
AIH

MM
AT

=H
fric) =}

Hat o)
£33

Ll
RE

1B
KiE

EHE
M

INFR
g

BE

2K
Al

RHE
AR

& (F5)
hEGR

#18:202258H278 (1)
S5 HLNITOUYT T —F T

(ZFTTC)

(M geH)

(FR=BRCL.)

(B )

(E%JS0)

(fR=EkCL.)
(FFTTC)

(kR )

(BT EE)
(FED2=7)

(HKEED21ZT7)

(E%JSC)

(FNE BB RARLD)

(FFTTC)

(SPIN WORKS)
(¥ETT.C)

(FED2Z7)

(MTEE)

10

16

10

1



